Week 10 Notes

Dzwygmce Thegiem

From  \asb  wiek  wt know  Yd 4
ggg\)a{w(f)o{\/’_ %Saw\‘—)"oh

whet QW |1 g Jwﬁa il ow}wa/t/ féclbj nu/al

sz J'u \mLerfW+ H«\sj

l,[ W P\C‘l’UV{ ?:au J/‘w /\/e/oCIb f‘l/(v/ o}a//um/l
thu. ¢ s face lefgval
i, %
ow
i the  Fho vale . (¢ the  anlume o [1gwd paing
M/OU7L AN 24 anl  Fime.

\»JQ (an )/an\k 01’ JW’FE atl a PN"‘J’ al meuwing
fhe  Hlaw  yade "'Muj‘n a vty gl SPWN an uw/)
H\AL PONA"- I’J(ma H{ Jluarjﬂna memu Mt?)
v add 4l #;1)4 up , oo (70«4/ ko JA

Plaw rake kujl Fht o quy‘

Quey how Jse  Vho dw/?M(e Ltorn




o fAwd SSSF-oU NV ine
Flxyga)- Cxys, 93t 2xt) Wt § oo e o7
(e given by Xy-sq eem<5.

Ahswer
()= 2 = (x4~ = 9 (yzY) rr.,a-:LC%X)
g A X
IR
\X T3 - xlm”ﬁ YA da
5 xi?x*’:‘?r fment
_ 2 S: S: rr Vvdede

1()‘%

0

)
= 1w S r(‘/rllfi
> T g 'Z,

U/\‘S (v 212" da

[ U2 4 743\\




~

\

B,
Z 3
— (q%*:;’«’. )L
= (17 +13)
= Lo

Quneshow b Y b AN swface

Find  the  ylame  oncloled bj J OV Ln Yhat
&& 4% ,2y,13)dS = 50
\

/hmu 1 LLL \0\’ \/)JL H\z '\/()lmvuL mclo)cﬂ.ﬂm
AW=S. o b dlutrgwu Weortm  wi laave

SSS i (¢x 2y 10)d! = &81 (xpyr) df = 8o




b A () = vAa1r =S
Wu C d\J = 0O
13

Aea(w) = 1o

\ I e e

Mw A P qw}\w Bl can i adke

hadawtn ki Prorm ol ijwl; [ (Fole)
Ov (’AAVL/S{/V\(,(\

&ud)’\ﬂ:\ '. was Wa}l  Hie Ve \\AJ([”VO\\

ol B= (X, Ny, 2 (X)) anwA anv cloed
cuve € oae *M\& Su/ftu( i o oom ):LZX‘L(\?/,'

1) 2Z2ers .

Anww Ly ((omdeo\ S\\w(e o\uwssm)
Wi e VoF = 297, -xr, o)

Now, wt wank h hnd Na
Smce :?.1:><",\v)" , we have

0T = = X
’L:ET; Lx s 9/.:"-‘ - X3
9 <




2'—1%3‘:1") > ?/lfj/k

Iy

ucv\(ﬂ, ﬂvlby\ )/L( q)a\w\w\t}u \S()f\)\n
&(Yl“)\t (K;Vh q-()(:")\\
C’K-‘(‘IOIX/%) (’9: (O,','\ﬂ/l)
N:GYXCY + <F‘)_‘(_2': ! ’/;_/ |>
Ilwu KV mﬁ).ﬁ\: > 0("“}‘ [ |Jr f\,llw\ LD
Q\r\)\lw\ \)\xd\r&w\
Quashim' b S e W ppeall & b
0\\\()(0\3\ Q’%Zo\ _7(;— } vi‘w ’3:":-\ W\V\A ()\AX’V('\J)

b\
K/M“’"\ R AN Givan F - L%/ ><Jrq"/ W-

ELAGAD
\N\l\{l\\’ \9 \\?M‘ ()\S

Ah%\n“l

P)v) sk\rw y\«uwv‘-
%%SUX?G\\ :ﬁggg\:«ﬁ-

& jndawd ofen LAJ"‘ :



f &= jadamd oY g
e ))Nmmelwv J e \l,awnAqW) \,3 V(g):[ua)(%smﬁ,v)
thi ha th o ornfabm. v ) = (- Lswb, 16.0)

: a8
ﬁgaﬂmw 0d0
- L1 M g by

Quathm

S“‘PY""* he a 7441 Wl ot Yt
SHQW<X’}X\3)‘3€/ X')'3‘3”‘\i‘jL,‘ft>-AgtlL
What U Vol [\,;),:’l‘

Anwer
Deaen(e Hestm:

WL dvlpdv=1s

W




S%%wlwyl—ﬂ rUAV )

S“XNQ(AV: 5 2 \/o‘(\ﬂ):’]_,



